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EFRAS R RS
20214 7 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.006 - 1.278 0.015 &
LA i 1.512 0.007 - 0.328 0.062 =
/L4, (HCI) 4.545 0.014 - 0.160 0.104 =
mIbE (HF) 0.306 0.000 - 0.073 0.019 s
— &b (SO2) 15.147 0.000 - 5.309 1.748 =
—4& kbR (CO) 7.578 0.002 - 0.179 0.076 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.670 - 8.282 1.616 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.009 - 0.078 0.016 &
LA 0.756 0.021-0.125 0.061 =
#F/bE (HCI) 0.756 0.062 - 0.132 0.104 s
wAbE (HF) 0.072 0.009 - 0.027 0.019 s
— &b (SO2) 3.789 1.106 - 2.336 1.749 =
—&Ei% (CO) 3.789 0.052 - 0.119 0.076 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.959 - 3.105 1.620 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.006 &
IR R g ) 7.575 x 10°° <6.788 x 1020 &
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EFRAS R RS
20214 7 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 - 0.012 0.003 &
LA i 1.512 0.005 - 0.392 0.097 =
/L4, (HCI) 4,545 0.009 - 0.287 0.170 =
mIbE (HF) 0.306 0.009 - 0.074 0.035 =
— &b (SO2) 15.147 0.000 - 5.368 1.681 =
—4&bi% (CO) 7.578 0.019 - 0.168 0.083 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.874 - 9.160 1.712 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.006 0.003 &
LA 0.756 0.018 - 0.224 0.095 =
#F/bE (HCI) 0.756 0.116 - 0.211 0.170 s
wAbE (HF) 0.072 0.027 - 0.040 0.035 s
&R (SO2) 3.789 1.234 - 2.076 1.680 =
—&Ei% (CO) 3.789 0.050 - 0.122 0.083 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.263 - 2.476 1.724 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 10°° <5.721 x 1010 &
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20214 7 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.017 0.006 &
LA i 1.512 0.007 - 0.321 0.081 =
/L4, (HCI) 4,545 0.004 - 0.112 0.066 =
mIbE (HF) 0.306 0.009 - 0.061 0.034 =
— &b (SO2) 15.147 0.000 - 4.633 1.618 =
—4& kbR (CO) 7.578 0.001 - 0.144 0.078 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.735 - 6.463 1.550 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.005 - 0.008 0.006 &
LA 0.756 0.016 - 0.172 0.080 =
Z/LE (HCI) 0.756 0.047 - 0.079 0.066 s
wAbE (HF) 0.072 0.029 - 0.037 0.034 s
— &b (SO2) 3.789 1.330 - 1.892 1.616 =
—&Ei% (CO) 3.789 0.028 - 0.106 0.078 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.948 - 2.777 1.554 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.001 =
R A 0.0378 <0.0047 &
IR R g ) 7.575 x 107 <5.252 x 1010 =
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